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There are 60 questions on this test.   Be sure you return this book along with your test book and scantron.  Failure to return all three will result in a grade of zero.
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GOOD LUCK!
1.
Electron micrograph.  Which is the most likely cause of the hematuria?


A.
cancer


B.
IgA nephropathy


C.
minimal change disease


D.
systemic lupus

*
E.
thin GBM disease

2.
Urinary sediment.  What kind of crystals?


A.
calcium oxalate


B.
cholesterol


C.
contrast medium

*
D.
cystine


E.
eosinophil basic protein

3.
Urinary sediment.  What kind of crystals?

*
A.
calcium oxalate


B.
cholesterol


C.
contrast medium


D.
cystine


E.
eosinophil basic protein

4.
Kidney.  Electron micrograph and C3 stain.  What is the diagnosis?


A.
diffuse proliferative glomerulonephritis


B.
focal-segmental glomerulosclerosis

*
C.
membranoproliferative GN type II / dense deposit disease


D.
membranous glomerulopathy


E.
mesangial proliferative GN, consider IgA

5.
Kidney.  What is the diagnosis?


A.
acquired dialysis cystic disease


B.
arteriolar nephrosclerosis


C.
autosomal dominant polycystic kidney disease

*
D.
autosomal recessive polycystic kidney disease


E.
chronic pyelonephritis

6.
Glomerulus.  What is the diagnosis?


A.
dense deposit disease


B.
diffuse proliferative glomerulonephritis


C.
lupus with wire loops

*
D.
minimal change disease


E.
no pathology

7.
Kidney.  What is the diagnosis?


A.
acute tubular necrosis

*
B.
arteriolar nephrosclerosis


C.
hemolytic-uremic syndrome


D.
myeloma kidney


E.
no pathology

8.
Kidney from an adult.  It was 6 cm long.  What is the diagnosis?


A.
acute tubular necrosis


B.
autosomal dominant polycystic kidney disease


C.
autosomal recessive polycystic kidney disease

*
D.
acquired dialysis cystic disease


E.
medullary sponge kidney

9.
Urinary sediment.  What's this?


A.
calcium oxalate crystals


B.
candida

C.
cystine

D.
hyaline cast

*
E.
red cell cast

10.
Kidney.  What is the diagnosis?

A.
autosomal recessive polycystic kidney disease

*
B.
cystic dysplasia

C.
myeloma kidney

D.
simple cysts

E.
Wilms tumor

11.  
Kidney.  What is the diagnosis?

A.
angiomyolipoma

B.
clear cell carcinoma

C.
metastatic melanoma

D.
transitional cell carcinoma

*
E.
Wilms tumor

12.  
Glomerulus.  The first is a PAS stain.  The last is an IgG stain.  What is the diagnosis?

A.
amyloidosis

B.
anti-GBM disease

C.
diffuse proliferative glomerulonephritis

*
D.
membranous glomerulopathy

E.
lupus with wire loops

13.  
Penis.  What is the diagnosis?

*
A.
carcinoma in situ

B.
condyloma acuminatum

C.
invasive squamous cell carcinoma

D.
lichen planus

E.
Peyronie's disease

14.  
Testis.  What is the diagnosis?

A.
azoospermia consistent with XXY

*
B.
embryonal cell carcinoma

C.
old torsion

D.
recent torsion

E.
tuberculosis

15.  
Kidney.  What is the diagnosis?

A.
angiomyolipoma

B.
chronic pyelonephritis

C.
clear cell carcinoma

*
D.
transitional cell carcinoma

E.
Wilms' tumor

16.  
Kidney.  What is the diagnosis?

*
A.
acute pyelonephritis

B.
acute tubular necrosis, probably ischemic

C.
carcinoma

D.
chronic pyelonephritis

E.
pigment nephropathy

17.  
Kidney.  Second is a silver stain.  Your best diagnosis?

A.
amyloidosis

B.
membranous glomerulopathy

C.
membranoproliferative glomerulonephritis type I

D.
membranoproliferative glomerulonephritis type II

*
E.
vasculitis

18.  
Kidneys.  The second photo has a normal for comparison.  What is the diagnosis?

A.
acquired dialysis cystic disease

*
B.
autosomal dominant polycystic kidney disease

C.
autosomal recessive polycystic kidney disease

D.
cystic dysplasia

E.
medullary sponge kidney

19.  
Glomerulus.  PAS stain and electron micrograph.

A.
diffuse proliferative glomerulonephritis, consider post-streptococcal disease

*
B.
focal-segmental glomerulosclerosis

C.
membranoproliferative glomerulonephritis type I

D.
mesangial proliferative glomerulonephritis

E.
minimal change disease

20.  
Bladder.  What is the diagnosis?

A.
carcinoma in situ

B.
hyperplasia without atypia

C.
squamous cell carcinoma

*
D.
transitional cell carcinoma

E.
no pathology

21.  
Kidney.  PAS and IgG stains.  What is the diagnosis?

*
A.
anti-GBM disease

B.
diffuse proliferative glomerulonephritis

C.
membranous glomerulopathy

D.
membranoproliferative glomerulonephritis

E.
myeloma kidney

22.  
Penis.  What is the diagnosis?

A.
carcinoma in situ

B.
condyloma acuminatum

C.
molluscum contagiosum

*
D.
squamous cell carcinoma, invasive

E.
syphilis chancre

23.  
Bladder.  What is the diagnosis?

A.
carcinoma in situ

B.
hyperplasia without atypia

C.
papillary transitional cell carcinoma

D.
squamous metaplasia with schistosomiasis

*
E.
no pathology

24.  
Kidney.  What is the diagnosis?

A.
arteriolar nephrosclerosis

B.
bacterial endocarditis / septic embolus

*
C.
cholesterol emboli

D.
hemolytic-uremic syndrome

E.
Wegener's granulomatosis

25.  
Prostate.  What is the diagnosis?

A.
acute prostatitis

B.
carcinoma, Gleason I

C.
carcinoma, Gleason V

D.
granulomatous prostatitis

*
E.
hyperplasia

26.  
Kidney.  What is the diagnosis?

A.
acute pyelonephritis

B.
amyloidosis

C.
arteriolar nephrosclerosis

*
D.
chronic pyelonephritis

E.
papillary necrosis

27.  
Kidney.  Finding these "decoy cells" indicates

A.
acute tubular necrosis

*
B.
BK virus infection

C.
lead poisoning

D.
mercury poisoning

E.
transplant rejection

28.  
Kidneys from a child.  What is the diagnosis?

A.
autosomal dominant polycystic kidney disease, early

B.
autosomal recessive polycystic kidney disease

C.
cystic dysplasia

*
D.
hydronephrosis

E.
Wilms' tumor

29.  
Testis.  What is the diagnosis?

A.
abscess

B.
Leydig cell adenoma

*
C.
seminoma

D.
testicular feminization

E.
infarct

30.  
Glomerulus.  H&E, IgG, and electron micrograph.  What is the likely diagnosis?

A.
membranous glomerulonephritis

B.
membranoproliferative glomerulonephritis type I

C.
myeloma kidney

*
D.
post-streptococcal glomerulonephritis

E.
thin GBM disease

31.  
Kidney.  What is the diagnosis?

A.
abscess

*
B.
angiomyolipoma

C.
clear cell carcinoma

D.
cystic dysplasia

E.
chronic pyelonephritis

32.  
Kidney.  What is the diagnosis?

*
A.
diabetes

B.
hemolytic-uremic syndrome

C.
membranous glomerulonephritis

D.
proliferative glomerulonephritis consistent with lupus

E.
no pathology

33.  
Kidney.  Silver stain and electron micrograph.  What is the diagnosis?

A.
diffuse proliferative glomerulonephritis

B.
lupus with wire loops

*
C.
membranoproliferative glomerulonephritis type I

D.
membranous glomerulopathy

E.
mesangial proliferative glomerulonephritis, consider IgA

34.  
Kidney.What is the diagnosis?

A.
acute pyelonephritis

B.
acute tubular necrosis

C.
diffuse proliferative glomerulonephritis

D.
lupus, WHO Class IV

*
E.
malignant hypertension

35.  
Kidney.  Jones silver stain and electron micrograph.  What is the most likely diagnosis?

A.
diabetes

B.
focal-segmental glomerulosclerosis

C.
IgA nephropathy

*
D.
lupus

E.
minimal change disease

36.  
Kidney.  What is the diagnosis?

A.
abscess

B.
cystic dysplasia

C.
papillary necrosis

*
D.
renal cell carcinoma

E.
Wilms tumor

BONUS ITEMS

37.  
Electron micrograph.  What produces these "tubular arrays" in the endothelial cells in lupus?

[interferon]

38.  
Urinary sediment.  What is the composition of these crystals?

[magnesium ammonium phosphate / struvite]

39.  
Prostate.  Diagnose and explain.

[cancer; crowded glands]

40.  
Kidney.  What is your diagnosis?

[papillary necrosis]

41.  
Kidney.  What is the diagnosis?

[acute tubular necrosis]

42.  
Your patient is surprised because his urine is a brilliant fluorescent yellow.  He feels fine.  What is the cause?

[dye in food / vitamins]

43.  
What is the usual reason for a urine sample having a pH of 9.5?

[bacteria]

44.  
What's the common term we use for an accumulation of serous fluid in the tunica vaginalis around the testis?

[hydrocele]

45.  
What eponym is given to synergistic bacterial gangrene of the scrotum?

[Fournier's]

46.  
What gross finding immediately alerts the pathologist that this testicular tumor is a choriocarcinoma?

[hemorrhagic / blood]

47.  
Why is a new varicocele often a warning of renal cell carcinoma?

[vein]

48.  
What popular over-the-counter supplement is likely to cause a false-negative urine dipstick test for glucose?

[vitamin c / ascorbic acid]

49.  
What is the common, mild illness at the same locus as the serious Alport's disease?

[thin GBM]

50.  
Zuni nephritis, affecting the Native peoples of our southwest, usually has what histologic pattern?

[mesangial / mesangial proliferative; 

proliferative, membranoproliferative, and mesangiocapillary are wrong]

51.  
"The spontaneously hypertensive rat" was found in the 1990's to have a mutation at what locus?

[angiotensin converting enzyme]

52.  
What bladder disease features a substantial increase in the numbers of mast cells?

[interstitial cystitis / Hunner's ulcer]

53.  
What does it mean when we say that a glomerular disease is "global"?

[if part of a glom involved, all is involved]

54.  
An adult presenting with true minimal change glomerulopathy is likely to have what underlying illness?  Be specific.

[Hodgkin's disease]

55.  
Although the pathology in carcinoma in situ of the bladder is strictly confined to the epithelium, the disease may be uncomfortable.  Why?

[permeable to ions]

56.  
What's a tophus?

[anything about gout]

57.  
What is the distinctive histology of a bladder cancer of urachal origin?

[adenocarcinoma]

58.  
Why do you see hyperplasia of Leydig cells in testicular feminization?

[anything about gonadotropins]

59.  
What is the cause of bowenoid papulosis of the penis?

[HPV]

60.  
Why do you think renal vein thrombosis is so common in the nephrotic syndrome?

[lose anticoagulant factors]

